Hundreds

1. Use the number cards to complete the
part-whole models.
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4. Zesh has dropped paint on his work.
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Find 3 combinations that could complete
the statement above.
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2. Complete the number sentence for this
representation.

5. Use all the number cards below to
make 3 addition number sentences.

place value chart.

There are 4 tens and 6 ]
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3. Match the numbers to the correct 6. Zara says,

A. B. L[ ones in the number 45.
Tens Ones Tens Ones > @
Is she correct? Convince me using a
lace value chart.
Tens Ones
42 35 37
VF R
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1.43; 35

2.60+4=464

3.A-35B-42

4. Various answers, for example: 50 and 5; 51 and 4; 52 and 3
5,22+ 14=36;8+7=15;13+5=18

6. Zara is incorrect. There are 4 tens and 5 ones in 45.

Tens Ones

(10)(10) 1001
.. 101
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